HEREER TR 284 e TE &R A1 $56 78R & AT 'R T A
M9 FRE
A 709, 555
R ERE K 97
TR (105 %) 13.7 BTHRIE T
RIS A 2R 58 SEHILLT WY SEEILL b
HIRE (1075 %) 8.2
FERIB AR GRS 218 6THERERT  FLE(L
BT R T w3 z ! : ! 5
& LRI, 1 R 10 5 % 13. 67 13. 04 0.16 28 /
2 WEF RIS iR A e AR 10755+ 6. 34 4.99 0.75 8/
3 AL =R 10 5%t 1.71 1. 49 0. 38 17/
T AEME RS EE 4 RS B G VB A 2 T 2R 10 5 5% 2.11 5. 39 -1.53 — 67 /
HETE 5 Fra ek A E AR S % 10. 31 6.89 0.85 : 10 /
_____________ 6 PPk esm Ll EEIA % 76. 29 71.89 0. 52 23 /
EFEFEHE T OER T R~z 20> H L EEES % 0. 00 15.99 -1.84 65 /
8 Mz~ A Ll RIS % 8.20 20. 76 -2.18 65 /
9 %EJ“N%U?SVJ HU EEIS % 0. 00 15. 61 -1.98 65 /
P2 10 BT EZ TR R s s RS % 1.18 3.63 -0. 85 ; 54 /
11 FBek B 14 iz D %ﬁﬁm%‘@a Mtk SENEK 3.79 8. 68 -1.16 65 /
2l 12 sk im A s ez E % 12.37 23.92 -2. 40 67 /
13 xﬁﬂmﬁﬁfﬂﬁ%ﬁfil % 4.71 5.19 -0.19 34 /
14 B Z TR B e A % 90. 59 87.59 0.61 22 /
biE S by 15 B AR R 80mE A 7 g Ll J7 B % 84. 09 80. 98 0. 44 — 26 /
ABe i 16 R R R AR o gfl H 58. 00 64. 28 -0. 39 — 44 /
TR 17 B A RS A TR SE ke TR eI R v e fi H 273.00  267.62 0.26 42 /
18 AERIEEYE R 24 L) LISHEEIA: % 0. 00 1.09 -0.95 4 49 /
TR R 19 g B pE ) e = s — DR DA % 56. 10 46. 40 1. 04 10 /
20 Mg BEEpIE = AR — N ETEIS % 26. 83 24. 14 0. 44 22 /
21 Mg B PERIE = AR — b BB % 0. 00 4.83 -1.32 60 /
22 Mg BRI = AR — MR B % 4.88 3.19 0. 66 16 /
23 WV BRIl 2 AR — 127 RIS % 4.88 8.70 -0.77 53 /
24 JHERBEERIIE] = A — | SRR A % 7.32 12.75 -0. 70 50 /
fi5 e/ BE 25 Fria FEK Hr e R AU R S % 1. 47 62. 40 -2.35 67 /
26 ST AL h R A S AR A A R R R A % 90. 59 86. 73 0.31 34 /
27 SIS B o A R A AR B A % 16. 67 69. 36 -2.29 65 /
28 AR BRI AR B E A % 27.98 19. 85 0. 63 15/
D 29 FEARTEIPE AL A DRaE 5 % 5. 17 5. 24 -0.01 1 26 /

3. MR RIIANBRBIZLD

1. Z OFREMIT AT O KA T ) . A GRS SERE S T M AR - (R S S
WAtk & 0 PR L7z,
16.  RITAE O BB Sk it % HB 3 TR ERIE AR B

HfiE DR

EHBRRTH D,

17, AR OB EREE TR AL £ 113D BEDBHRTH 5,

19~24.

HITAE OB GRVE B IR PE RS R AR IR BB DS R TH B,

of
S

7T 7 LAREDTF 5
FEIREE 5« 10

» 11

14,

15,

19, 25, 26, 27

JIEUE |6 A
[ A Y 13 =¥ v



	print

